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567686 9:;< =;= > ?@ ABCD? EB?FG?FAH
vBx = vBz = 0 I
vBy = [−72,−71,−70,−69] I
A(3, 0, 1) # B(0, 0, 1) # C(1, 3, 2) # D(3, 1, 0) #

567686 9:;< =J = > KLCM@?LCD? EBB?
vBy = vBz = 0 I
vBx = [−50,−49,−48,−47] I
A(1, 0, 3) # B(0, 0, 4) # C(0, 5, 4) # D(2, 1, 0) #

567686 9:;< =N = O PMCD O Q AG@ AR
vBx = vBz = 0 I
vBy = [66, 67, 68, 69] I
A(3, 0, 2) # B(0, 0, 4) # C(3, 2, 2) # D(2, 5, 0) #

567686 9:;< =S = T CU KKD E@G KQ
vBy = vBz = 0 I
vBx = [−8,−7,−6,−5] I
A(2, 0, 2) # B(0, 0, 4) # C(2, 2, 3) # D(3, 2, 0) #

567686 9:;< =V = WCXDABKY E@G KQ
vBx = vBz = 0 I
vBy = [26, 27, 28, 29] I
A(1, 0, 1) # B(0, 0, 4) # C(3, 2, 3) # D(1, 5, 0) #

567686 9:;< =Z = [ ?\HBCD ] D?B
vBx = vBy = 0 I
vBz = [−8,−7,−6,−5] I
A(4, 0, 1) # B(0, 0, 1) # C(3, 2, 3) # D(2, 1, 0) #

567686 9:;< =^= _HMYKD EB`@ KR
vBy = vBz = 0 I
vBx = [−60,−59,−58,−57] I
A(4, 0, 2) # B(0, 0, 4) # C(2, 3, 3) # D(3, 2, 0) #

567686 9:;< =a = b?RcP\?KD [ PF?
vBx = vBz = 0 I
vBy = [−27,−26,−25,−24] I
A(1, 0, 4) # B(0, 0, 2) # C(0, 3, 2) # D(3, 4, 0) #

567686 9:;< =< = bQ A@ BCD d ?DK\
vBx = vBy = 0 I
vBz = [−30,−29,−28,−27] I
A(2, 0, 1) # B(0, 0, 4) # C(2, 3, 1) # D(3, 2, 0) #

567686 9:;< =;e = fgX?BCD O Q AG@ AR
vBx = vBz = 0 I
vBy = [−25,−24,−23,−22] I
A(1, 0, 1) # B(0, 0, 3) # C(0, 5, 1) # D(1, 4, 0) #

567686 9:;< =;;= h ?FAB d ?DK\
vBy = vBz = 0 I
vBx = [−80,−79,−78,−77] I
A(2, 0, 1) # B(0, 0, 3) # C(3, 4, 2) # D(4, 2, 0) #

567686 9:;< =;J = d CiD?\AGCD? EBB?
vBx = vBy = 0 I
vBz = [−24,−23,−22,−21] I
A(3, 0, 3) # B(0, 0, 2) # C(2, 2, 1) # D(3, 1, 0) #



567686 9:;< =;N = bKBjAiAB? O ?@ kH
vBx = vBy = 0 I
vBz = [27, 28, 29, 30] I
A(1, 0, 1) # B(0, 0, 1) # C(3, 3, 2) # D(2, 5, 0) #

567686 9:;< =;S = l?Q mi?R hP
vBx = vBy = 0 I
vBz = [−48,−47,−46,−45] I
A(4, 0, 3) # B(0, 0, 1) # C(0, 2, 3) # D(3, 1, 0) #

567686 9:;< =;V = _CQ K@ C [ CBAn?
vBx = vBy = 0 I
vBz = [−8,−7,−6,−5] I
A(1, 0, 3) # B(0, 0, 3) # C(2, 2, 4) # D(3, 1, 0) #


